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First Year, Examination, 2018 

Time : 3 Hours   Max. Marks : 40 

Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What are the causes of forest fire ? Suggest various 

measures to prevent and control forest fires. 

oukfXu ds eq[; dkj.k dkSuls gksrs gSa \ oukfXu dks jksdus 

,oa fu;af=r djus ds fofHké mik;ksa dh foospuk dhft,A 

2. “Biological control of insects is an effective tool of 

pest control in forests.” Discuss the statement with 

appropriate example. 

ßouksa essa dhV fu;a=.k gsrq tSfod fu;a=.k ,d mi;ksxh lk/ku 

gSAÞ bl rF; dh mnkgj.k lfgr foospuk dhft,A 

3. How do you protect forests against injuries by  

animals ? 

tkuojksa }kjk ouksa ds uqdlku dks vki dSls cpk;saxs \ 

4. Describe the adverse effects of climate factors on 

forests, with particular reference to temperature and 

forest. 

ouksa ij tyok;qoh; dkjdksa ds foijhr izHkkoksa dk rkiØe 

,oa rq”kkj ds fo’ks”k lanHkZ esa o.kZu dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss the following : 

fuEufyf[kr dh la{ksi esa ppkZ dhft, % 

1. Root Rot of Sal 

lky esa tM+ xyu 

2. Fire line 

vkXus js[kk 

3. Teak defoliator 

lkxkSu dh i.kZHk{kd 

4. Rotational grazing 

vkorhZ pjkbZ 

5. Nursery diseases 

ikS/k’kkyk ds jksx 

6. Shifting cultivation 

f’kQfVax dYVhos’ku ¼LFkkukUrjh d`f”k½ 

7. Obnoxious weeds 

vfiz; [kjirokj 

8. Mining 

[kuu 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Counter Fire is a method of extinguishing forest fires. 

(True/False) 

foijhr vfXu oukfXu cq>kus dh ,d fof/k gSA ¼lR;@vlR;½ 

2. Ganoderma lucidum is a stem rot. (True/False) 

xSuksMekZ Y;wflMe ,d ruk foxyd gSA ¼lR;@vlR;½ 

3. The removal of tree crop from a piece of land without 

the intention of reforestation is known as deforestation. 

(True/False) 

o`{kksa dks fdl Hkw&Hkkx ls fcuk fdlh iqu%ouhdj.k ds mís’; 

ls gVkus dks fuoZuhdj.k dgrs gSaA  ¼lR;@vlR;½ 

4. The Science which deals with diseases in trees is 

termed as forest entomology. (True/False) 

ouksa ds jksxksa ls lEcfaU/kr foKku ou dhVfoKku dgykrk gSA 

    ¼lR;@vlR;½ 

5. Shifting cultivation is a primitive and unproductive 

form of agriculture. (True/False) 

LFkkukUrjh d`f”k dk ,d izkphu ,oa vuqRiknd izdkj gSA  

    ¼lR;@vlR;½ 
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Choose the correct alternative : 

lgh fodYi pqfu, % 

6. The act of seizing possession of some forest land is 

known as : 

(a) Mining 

(b) Deforestation 

(c) Encroachment  

(d) None of the above 

fdlh ou Hkwfe ij vukf/kd`r vf/kdkj dgykrk gS % 

¼v½ [kuu 

¼c½ fuoZuhdj.k 

¼l½ vfrØe.k 

¼n½ mi;qZDRk esa ls dksbZ ugha 

7. A forest fire spreading slowly over the ground with a 

low flame is known as : 

(a) Ground fire 

(b) Surface fire 

(c) Creeping fire 

(d) Crower fire 

oukfXu tks lrg ij ean T;ksfr dk lkFk /khjs&/khjs QSyrh gS] 

dgykrh gS % 

¼v½ tehuh oukfXu 

¼c½ Hkwry oukfXu 

¼l½ Øhfiax oukfXu 

¼n½ N=d oukfXu 



 [ 6 ] S–839 

 A-109 

8. The forest occurring on nights with a clear sky 

produced by loss of heat by radiation is known as : 

(a) Pool frost 

(b) Radiation frost 

(c) Advective frost 

(d) None of the above 

lkQ jkrksa esa  fofdj.k }kjk rkieku eas kl gksus ds dkj.k 

ik;k tkus okyk rq”kkj dgykrk gS % 

¼v½ iwy ÝkLV 

¼c½ jsfM,’ku ÝkLV 

¼l½ ,MfofDVo ÝkLV 

¼n½ mi;qZDRk esa ls dksbZ ugha 

9. Hapalia maciraeralis is commonly known as : 

(a) Teak deflator 

(b) Teak skeletonizer  

(c) Teak heart wood borer  

(d) None of the above 

gSIyh;k eSdjSfyl dks lkekU;r% dgk tkrk gS % 

¼v½ Vhd fu”i=d 

¼c½ Vhd LdSYVksukbtj 

¼l½ Vhd gkVZ oqM cksjj 

¼n½ mi;qZDRk esa ls dksbZ ugha 
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10. Lapping is : 

(a) Cutting of branches  

(b) Cutting of leaves 

(c) Cutting of twigs 

(d) All of the above 

isM+ dh N¡Vuh gS % 

¼v½ ‘kk[kkvksa dks dkVuk 

¼c½ ifŸk;ksa dks dkVuk 

¼l½ Vgfu;ksa dks dkVuk 

¼n½ mi;qZDRk lHkh 
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